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Classical sudoku

Rules:
Fill each cell of the gird with a digit 1 fo 9 to appear only once in each row,
column, or nonet (3x3 squares).

8 2 1
L2 6 3 8
3
1 5 3
913 5
8 6 f
L 8 1
1 2 315 9
6 1
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2 L 3 Multi
5 ! 3 i:lpeljl standard sudoku rules
1[5 s for e i v
3 7 Each digit in the coloured
cells must be unique.
6 5 4 3
1 6
112 5 8
2 L 9 2 1
1 6 8 9 8
6 2 5
1 5 9 3
3 8 2
6 2 L 2 6
1 2 5 3
5 6 3 6
2 8 3 9
1 5 8 1
5 1 8
2 3 4
8 9
9 8 1
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Kropki

Rules:

the adjacent cells in which one digit is the double of the other one.

The dot between two cells with digits 1 and 2 has any of fthese two dofs.

Apply standard sudoku rules. The white dofs indicate all the adjacent/neighbouring
cells in which the difference befween the two cells is 1. The black dots indicate all
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Mathdoku

Rules

Apply standard sudoku rules. For more in each of nine nonets
(3x3 squares) there are subsidiary numbers between two cells. 3Gk
These numbers are the results of binary operations L 29
(addition, subtraction, multiplication, or division) between 3 197
the two cells. In each nonet there must be used all the four
binary operations.

Example: between the cells there is number 48 multiplication is only acceptable operation,
that's why fthe candidates of the two cells are digits 6 and 8.

2 17
9) / 12 .
L S 1J LY
63 I
L.E 12 C
50 1J J
3
2 5
1 o | 1c
| LT 1J
12
1 1£ ) 1 o)
I 10 J 1D L
17
) 10 5 5
11
Il
2 30
1= 1 o)
1J L1 L
32 3
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Sudo-kuro Al
Rules: P12 9 8y
Fill the grid with digits 1 to 9. The digits can't be repeated in 511 1 3 &
rows, columns, or 11 marked shapes. The numbers outfside and M6 5
inside the grid set the sums in horizontal or vertical directions. ]
10
3 4 2 1
5 8 32 15 15 29 13
16 8 21
45 45 8
15 18 12
l" 20 12
45
22 8
35 10
7 25 18
17 21
3 > 2
9 21 15
1 1 3 |u
30 12
21 9
13 32
18 2 23
45
1 8 1 14
15 6 13 17
16 15 [|- 14

=

6-15



SUDOKUCUP o
2008 Kabrnaci

SUDOKUCUP.COM

airs

4 )
P -

Rules:
Apply standard sudoku rules. There are pairs of cells
diagonally connected and their diagonal distance corresponds 3

to their values (see example). It stands for each pair that one :
digit is stated in a yellow cell and the other one is in a white %
cell. Every yellow cell is exacfly in one of the pairs. The other 5 %X
digits don't have the same feafure. Every digif
(except 9) is in one of the pairs at least.

Example of the pairs ‘2" and ‘4"
digit 2 in the cells 1,1 and 3,3

=> 3-1=2
digit & in the cells 1,5 and 5,1
=>5-1=4

7-15
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Quadruple

Rules:
Apply standard sudoku rules. Each set of four small digits in the intersection of two lines
indicate the digits that are in the four adjacent cells.

1240 /.38
1307 D% TO
11.:1Q 034:0 | CicQ
%70 L3737 42307
WA ofla)
HpP 7
.E1 11710
pAL N #7170
ALLAQ
3569
oY dldla) 227
LLF67 J3I5/
1.1.71Q 11.19..149021
L%TT 1O 1LIT
2AL7Q /5[!:0 QL6
JJDTO %00 407
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Skyscrapers

Rules:

Apply standard sudoku rules. The numbers outside the grid means how many skyscrapers
are seen from that direction of particular row or column (higher skyscrapers cover
lower ones behind them).

3 L, 8 3
5 3 2 L 1 1
2| 8 2 | &
A A 6 2
5 7 2
2 9 3 6
315 6|3
1 8 6 5 L 3
A 3 7 2

2-15
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Untouchable

Rules:

Place a digit from 1 to 7 info each of the empty squares so that each digit
appears exactly once in each of the rows, columns and the irregularly shaped
regions. The same digits can't fouch in the corners.

N

10-15
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Jigsaw

Rules:
Place a digit from 1 fo 9 into each of the empty squares so that each digit

appears exactly once in each of the rows, columns and the irregularly shaped
regions.

N
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Rules:

'less than' (<) on the common line of the two adjacent cells.

Apply standard sudoku rules. There are given symbols of 'greater than' (>) or

N - - -
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/N 7\ /°\ \'4 7\ \'4 /°\ \'4 \'4
N - - N
z < < z
\/. /\ \/. \./. \./.
\'% 7\ /°\ /N /°\ /°\ \'% \% \%
N - N -
P < P <
- - - N
<< < << e
A\ /\ \./. \./. \./. \./. AN /\ /\
/N /°\ \'4 /°\ /°\ 7\
- N N -
<< 2 P <<
\./. \/. /\ /\ \/. \/. \./. /\
/°\ \% \'% /N /°\ \' \'% \% /°\
N N N -
2 g />2<\
- N N N
< 2 P P
\ /. \/. \./. \./. \/. \./. /\
/°\ \' \'4 /°\ \'4 \'4 /°\
- N - N
< 2 << 2
A\ /\ A\ \./. \./. \./. AN /\ \./.
/N 7\ /°\ /°\ /°\ \'4
- N N N
< P P P

=

13-15



SUDOKUCUP
2008

SUDOKUCUP.COM

Kabrnaci

7
Ring

Fill in the digits 1 to 9 not fo be repeated in any of nine circle sectors,

in any of nine circle parts bordered with bold lines, and in any of particular
circles in the target, as well.

N
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Sum sudoku

Example:
Rules: 1063 2 41 76
Apply standard sudoku rules. Each row is divided by w7 8 5|6y ANNE3 2
zigzag vertical lines into 3 numbers. On the left side, — ws|9 1 6[237 731554 8
outside the grid, there is the sum of the three AR 77 77 BE
numbers in each line. ws|8 9 3[STBNAS 2
L)L i5:2]8 /VA’@ 1.9
w1 3 19V BN 6 &
6201 5 4 813 y%% 91
31502:6:9 7%%% 8 5

1. line: 3241 + 589 + 76 = 3906

3105

4521 8

3
L 81 9

6012

&

1890 3

5562 | L

8667 9

8622

10098 }

1002

e
~

<\
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